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Entity testl is

Port ( x, y, z:in bit ; f :out bit); X

End entity; Sigl

Architecture t1 of test1 is ]

Signal sigl : bit ; F
Begin 7

Sigl<=xandy;

F<=sigland z;
End t1;
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Entity test2 is
Port(data : in bit_vector(7 downto 0) ; c: in bit);
End entity;
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Entity test2 is
Port(data : in bit_vector(0 to 7) ; c: in bit);
End entity;
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Entity Test3 is
Port(a, b, c: in bit ; Data : in Bit_Vector(7 downto 0) ;
Z : in bit ; EXTBUS : out Bit_Vector(4 downto 0) ;
RESULT : inout Bit_Vector (0 to 7) );
End entity;
Architecture RTL of Test3 is
Signal : x, y: bit;
Signal : INTBUS : bit_vector(4 downto 0);
Begin
End RTL;
Aol (s Sdg,9 £95 5l ols 1IN
Al oo s>9,% £95 5l osls : OUT
il Sxg)9 pB 9 5>9,5 pd Llgi sw osls 1 INOUT
o o UL U 5 @S5 95 ;S5 L |, Jol s

Sel Ladl Bg,> b b lai> asS (s wlzaol wliyle Architecture g Entity sy losi aS (swolawl-)
VY

alold s o5 1L Ol 5l Jud 21uS adlol (Comment) wlxwogi Asicwlss aoliy bglas Ul > ,SI-Y
- 3 518 (B0 uoMe Ulad)

Aol A loo s 51 ol @ud U9y L ol puls ol
v 03l Guys G

£95 oo UL

0,8 At daminyd 1 005,15
YYAY sls,>
Sefidgaran@gmail.com
http://Sefidgaran.blogfa.com

P jl P azsua [ o8> Cinauis ] VHDL isjgal plySastun auingg


mailto:Sefidgaran@gmail.com
mailto:Sefidgaran@gmail.com
mailto:Sefidgaran@gmail.com
http://sefidgaran.blogfa.com/

